7171224 7l2At Ald=A|

(L

ZI&A M1 92 3 AH 1 RAl (AIEAIZE 100 £)
A +¥ C

2274
Of 71A Zz2 87|t W5 o

¥ CF2 &4 S 10 2A1E Mdelisto] dHSIA|2., (Z4H104)
.83 Al 7 2EM(Gap bridgeability) 5210 L5 MHFIA|2,
A 2SS UV F 20 =2 S8 AU MUR ST SIS AL,

. GMA E80l|A ot=2 Hat 2I0f D0|2|= 221 57125 Y otA|2.

. ORIWBEESHFSW) 7|22 EAA AE2 Al HE E(tool)e Mz= A 371X |2 U=
(@)

=]
7 ULt O F 2 712 & 2YsHA R

.S 30mm et 20mm HAHE TEl 85t

=FHE 282,

N
kJ
et
=)
o
——

235t
oS =2

. 2H[QI2A 321 ZAF SM490B FAE UV E8Y W 88 AM=E dHiste PES

2t2ks| 452,
. 210] 2000mm £ 1500mm 0| 70mm o] SUAE TZ2S 7 10~16mm L20|&
T E OIZaHA A2t ottt OFAEEHEY HE0| 27t i 48T + Ucs E4E

2712 YA,

EHAZTHO| SR Px{2| Al HESHE R WIS AAISIL 71YsH= 0[RS LU,
272l9 #HeEZ | 23 27219 #ez |23
(2 (9!




7171224 7l2At Ald=A|

2 -1
Jl=At A 92 3 AH 1 RAl (AIEAIZE: 100 £)
= A4 ¥ M
of 714 zm 827|&At s %
9. bi3 2E YR 87|28 RLEF0 HAISIAIR.

10. 20[0{(Wire) A1THe| E2{(droplet)0ll 2{&dt= & 4 71A1E A5, M7 A0 T2t

HE
40| 2 Zot= 2t el=2| HetE 254l

1o

11, YSIIASME SecW)Z 87 & wf U7 83 0[SES(loint Efficiency)2l Zolet,
201518 0|2 ES0 T2t WAL ETAIE RT) &Y 228 MY,

12. HATYA (One Pass)2 23 80| Sl Uc7| BHo| A0IM, BYEL Huecs
AMACR MYFD, AIBRHES 3713 AL
13, L 20k20) A ThEH-3I0] 0|0} THE S0 ChafAl MFFHAIL.
279]2 #eE ed| aAs I
(@) (©)
(@) (@)
(@) (©)




7171224 7l2At Ald=A|

2-2

71=A A 92 3 A 2 WAl (AMEAIZE 100 &)
= A4

o P ze

oM

A
nn
H

fol pQk
02 ox

Y7I=M

ot @EstA|2. (Z4253)

J::

% ChE 24l & 4 24E o

1. 24 SYOIN B4 S0 E3HE|0|0F & AIZS HYSHAIS.

No
=]
H
I
O
3
i
un
Kl
i~
I
mjo
nx
o2
Q'E
>
to

w
00
i
ol
P
B
i
1y
hull
il
|
Rl
ol
mjo
U
o))
ol
>
[0

EN

EY
ne ne
N
4> [0
x
=2
08
9'|_|
mjo
o
E
rr
Q,E
o
10

2L N
o o 2
e oz ne ne
~
-

m
0x

1HSIA| L.

N
ro
|>
g
N
°© o
|m
[>
g
o
o
[>
oy
10
1)
o
>
]
>
_C')_
e
0]
11%
=2
:‘T‘:
9'|_
inl
0jo
>
0k
njo
).

oN!
|IO
>
=

»

1o
i Mo
§:I

e re FF% e
ul-g o ”E
. OF
MUfN N
oL

of

=
~
IS

&2 29| 4377 (strengthening mechanism)2| 7|22 3 g&#HE 5712 0|4

6. SMAWOAM AHQI2|AZA2Sl DIZHIAIOIE (Martensite)Al, T 2t0|E(Ferrite) A,
AHLIO|E(Austenite)Hl & O|SAHe| O|E, IHA 2L (interpass temperature) 2

=% ke HEZE =4 =% ke HEZE =4
(1) (21
(1) (21
(1) (e




7171224 7l2At Ald=A|

4% A/ (PWHT)0l| thot] 22t dF5tAI2.
1-1

=% ke HEZE =4 A9 HEZE =4
(2 (2

)
(21 )
) )




)

=
e

=A

1

[

AlZF: 100

3|

[<]

A 3 mA (Al

7171224 71EAt Al

3

=Mt A 92

(=) I~ of
1[e) :_n% .__.n_..o -
v i U B0 N
=) = o <F M
1D =
70 e Uy uo R
.n_u._ O._ .._A.o < UAI 10
70 50 ~r = o_o H__.._ ijo w
N o L
" 0 - g U ~N 0O
of < oz N Y
a0 053 < o] | = 2
< =0 o3 o ol
~ 5 <k m 3 D OO =~
=0 I M 00 w ~ —
RO B0 . 10 0 W T S
o W of ay S 1 =
~N T =z Z ¥ o5 o0 gt
Uﬁ m@.uOl Iy = o - %_ ] NI M w-m/l =0
0 o] = Ol ygp B m@ M S om =
. ] _I:I_ =il EO .AO
<+ 3 of = ¥x W™ — B g
=z o Mo q g o X g 4
R T S == S &
oS BN g S nex
- - k% =J [ ~
< XN 2 X N D A o KXo
<pu E= = oH — g & ol
RI e O gz 2° N2 = m_a S <X
= i o © S =
ofo w o ~J4 o + - T m
<7 YN 2 SRS (N
W s 72 z 5 o So2 o o
AR =} o T o oy 33 % o
Rr or W 2 =858 = 4 OF *r = <
/|I\ -4 |_|l ~ _ _| J—
Ko w VW o op @ Blm
= gD oo X oo Vo — or
= 1 1 = = L R R
Wy S Nh TwmE < g
— U ox o o R M H0 10 =~
IS N " S

[ =)

a

A

=
=

SHAl 2.
A

(=]
(L

2|

o
—

A2

=
=




7171224 7l2At Ald=A|

A 4 A (MEHAZE 100 =)

7Z1sAt A 92 3

2 A3 =3 3
27|12

OI: 7|7:" %% ohl?lEAI' Hdi %1

% Chg 24 S 4 24S WY

N

. 2240 CHE 2AE O3 20| g3 8ddo= HEsk= 4 d-IZ0| Alsto] =0{2Ict, 1)
d5ts HAR=0M HEE= ZO| Aot el HRAE AAlst, 2) At O|FE
SHEEEE O dY5HA|2.
e N
O
[
|
2. 518 38 =140 MPa Q| ZAHE Ct32t 20| 84510 5+ P=500kN & 2= & UESE 5t A}
ofCt EHFo| 58 dEHSE = 100 MPa g Tf 1) _/.\_5:1 ZHOI 2|42 AAlst, 2) Esot
=5HZE ALHSHAIL
J
=
TT)
X419 He = =4 X9 He = =4
(2) (21)
(21) (21)
(2) (21)




7171224 7l2At Ald=A|

3-1
1A A 92 3 Al 4 Al (AMEAIZE: 100 82)
g Ze =8 3
27|
OI: 7|7'1I _z._% =) |=l7|EAI' Hdi %1

= cm? , SHHOIXIZBHE = 18,000 cm* , =2l5tE Q = 400kN & o
B85 2t +2S3 omax 2t 2t B HHSH 1//2 F#ohA 2.

4. T8 T3 8 TIVI0| HAS HIS BR0| B0 T2t B2 H|E, 28 S, BYH|E SO2
TEY 4 Uk 1) S3E TR B0 HEE STV WAL 1S 13 A, 2)
HIE BA0| T2 2 0S| RS ASHS SYLECE 0/83t0] H|DED 3)
S3H20) TF2 H 35 HH01SS 1YOR HYFHAIL

2719|2) #E 23| A #EE | 2
() (©)
(1) (©)
() (@)




7171224 7l2At Ald=A|

3-2
Jl=At A 92 3 AH 4 A (AI-AIZE: 100 £)
= A4 ¢ C
of 714 zs 88%I=M M5 o
5. 2= T3 89 =F = 5 mm,  JF0lM ol 222 24Fotk= S5 Q =500kN E ff 1)
S0 st AYRUES F5ta, 2) ot =z A2 R0 Z2le ™S
oA 2.
300x30
500x16
300x30
6. 2ZAHOM 1) £ZAFe| EAI7t oot F2e} 2) BIEA| 2{0PHE 2Eoi0F 5t &
B9 28 =& Yot 3) 7tLa50t3 89 ALt 4) I|=0t3 8 Al ECHEY
28 Mo s 212t dE5tA| 2
A9 HEZE =4 A9 HEZE =4
(1) (2
(1) (2
(1) (2




AR A E2A
=7t712x4 7=

= Al219]
A9

e
rh

R
1913

(2

)

Gy

)

(2

)

rst
[




